
RAPID
The Column Formwork for 
flawless Architectural Concrete



PERI GmbH
Formwork Scaffolding Engineering
P.O. Box 1264
89259 Weissenhorn
Germany
Tel +49 (0)7309.950-0
Fax+49 (0)7309.951-0
info@peri.com
www.peri.com

Edition 05/2011

Important Notes:

Without exception, all current safety regulations must 
be observed in those countries where our products 
are used.

The illustrations in this brochure are photographs of 
real site situations. Safety or formwork anchor details 
are therefore not to be taken as a definitive guide to 
the way the equipment is to be used.

Safety precautions and allowable loads are to be 
strictly observed at all times. Separate structural cal-
culations are required for any deviations from the 
standard design data.

The information contained herein is subject to techni-
cal changes in the interests of progress. Errors and 
typographical mistakes reserved.



1

Content

  RAPID Column formwork
 2 For high requirements on concrete finish

 4 Fast and easy in any application

 5 Sharp and oversize column cross-sections

 6 Basic assembly and hints for the user

 8 Ladder access and concreting platform

 10 Components



2

60 x 60
60
x

20

Flawless Architectural Concrete
The unique PERI RAPID formlining 
clamping principle eliminates the 
problems of conventional fixing with 
nails or screws. The use of formlinings 
that cover the whole surface in one 
piece produces concrete surfaces 
satisfying the most stringent require-
ments; free from the impressions of 
screws, nails, formlining points or 
plugged tie holes. 
 
RAPID Chamfer Strip with the easiest 
assembly
The clamping principle ensures that the 
RAPID Chamfer Strip is securely fixed 
during basic assembly. Without nails!
 

RAPID corner detail – sealed even 
with high fresh concrete pressure
The captive Chamfer Strip reliably seals 
the corners. This guarantees a good 
fairface quality. Honeycombing at the 
corners is practically eliminated.

RAPID Column Formwork
For high requirements on concrete finish

12
0

21
 m

m

Column cross-sections
Continuously adjustable square or 
rectangular cross-sections of up to  
60 x 60 cm are possible.

RAPID Chamfer StripClamping Profile Formlining 21 mm Edge section

The clamping principle of 
RAPID Column Formwork

795

30 cm height increments
The three frame heights of 3.00 m,  
2.10 m and 0.60 m, provide ideal height 
adjustments. The frames are easily 
connected to each other.

Additional combinations to  
those shown are possible.

210

270
300

330
360

390
420

450



3

14 m high, oversize columns 
with formed crane brackets. The 
high permissible fresh concrete 
pressure of RAPID allows fast 
concreting.

Permissible fresh concrete pressure
The RAPID column has been designed 
for a very high fesh concrete pressure 
of 120 kN/m². This allows fast concret-
ing to take place.

Easy to clean
ECC powder coating guarantees that 
cleaning is kept to a minimum.

Durable
The robust, practical closed construction 
of the column frames, allows the PERI 
RAPID Column Formwork to withstand 
rough handling.

480
510

540
570

600
630

660
690

720
750

780
810



4

The unique PERI RAPID clamping 
principle
The formlining is clamped onto the 
frame with a captive chamfer strip and 
the clamping profile. Basic assembly or 
replacement of formlining with different 
sizes is carried out from above, without 
having to turn the column frame over 
and without damaging the formlining.

You can have the PERI RAPID Column 
Formwork delivered ready assembled 
if you wish.

Complete RAPID 
Column formwork with 
concreting scaffold and 
ladder access as well as 
push-pull props during 
transportation on site.

RAPID Column Formwork
Fast and easy in any application

Struck
The corner ties remain on each 
of the associated column frames 
when transporting to the next 
point of use. No individual com-
ponents have to be transported to 
the next location.

Erected
The column frames are delivered com-
plete with clamping profile, column 
tie yoke, locking pin and spherical nut.  
There are no small or loose parts to 
go astray. 

PERI RAPID, few components and 
everything captive.

Time-savings with every use
PERI RAPID has no loose components 
for erection and striking. The formwork 
is tightened or separated with only a 
few simple movements. This saves 
time! 



5

Tie DW 15

Locking Pin ø 20

Formlining 30 mmClamping profile Edge section

Column Tie Yoke

Wingnut Pivot Plate

5
6

8 8

8

Example 550 mm x 550 mm 
Formlining width = Column width + 12 mm = 550 + 12 = 562 mm

Sharp column cross-sections
Even columns without a chamfer strip, 
repeatedly demanded, can be easily 
formed with PERI RAPID.

Oversized column cross-sections
Cross-sections from 850 x 850 mm to  
max. 1300 x 1300 mm. The connection 
of two column frames is made with the 
TRIO Alignment Coupler BFD. A waling 
with column tie yokes is clamped on to 
stiffen the formwork.

Alignment Coupler BFD
5 per Column Frame 300 
4 per Column Frame 210 
1 per Column Frame 60

Steel Waler SRZ 120/U100
4 per Column Frame 300 
3 per Column Frame 210 
1 per Column Frame 60

Sharp and oversize column cross-sections

Detail of formlining routing
30 mm thick formlining, that is 
routed according to the detail 
drawing here, can be assembled 
on the column frames without a 
chamfer strip.

Oversized RAPID Column 
Formwork stiffened with 
steel waler SRZ.



6

2 31

Basic assembly is simple

RAPID Column Formwork
Basic assembly and hints for the user

Pre-assemble the second frame in the 
same way. Then place one pre-assem-
bled frame on top of the other and con-
nect with the column tie yokes and 
spherical nuts to form one half of the 
formwork. 

Place the cut-to-size formlining and the 
RAPID chamfer strip on the column 
frame and tighten together with G 
clamps. Tighten the clamping rail bolts 
with SW 17 socket spanner. Secure the 
formlining with a nail through a hole in 
the lip of the frame.

Cutting formlining to size
Use a 21 or 22 mm thick formlining of 
appropriately high quality with the main 
load-bearing direction placed vertically.
Horizontal joints in the formlining must 
be positioned on frame cross-struts.

Crane-free basic assembly
The light weight of the PERI RAPID  
Column formwork enables basic as-
sembly to be carried out by hand.

Everything is assembled from above, 
without having to turn the frame over. 
Place the required column frames on 
assembly trestles and couple length-
wise with 2 M20 x 50 bolts fitted to 
each column frame. (Spanner size  
SW 30)

Cutting width of formlining 

e.g.:
Column width 500 mm
Less reduction in size 

 500 mm
 8 mm
492 mm

Formlining width = column width - 8 mm



7

4

Hint for the user
To position the formwork exactly on the 
slab, we recommend fixing locating 
boards, set back by the thickness of the 
formlining “d”. 
The formlining projects about 40 mm 
beyond the frames at the bottom.

Possible projection of the plywood.
top bottom

The concreting plat-
form is assembled on 
column halves whilst 
in a lying position.

10
0

m
ax

. 1
0

0

40

Locating 
board

d

Mount PERI RAPID Lifting Unit-2,  
Item-no. 037320 or Concreting Platt-
form, complete, Item-no. 037400 at the 
top. These parts also serve to protect 
the formwork against concrete spills. 

The Lifting Unit-2 protects 
the RAPID against con-
crete spills.

C
ol

um
n 

fr
am

e



8

RAPID Column Formwork
Ladder access and concreting platform

Safe work in any height. RAPID 
Ladder access and concreting 
platforms for your safety.

The PERI concreting platform is 
delivered to site ready for use:

– No individual components to be lost, 
no complicated assembly of individual 
scaffold brackets, planks and hand-
rails, etc. There are no interrupting 
struts below either. 

– The concreting platform fits any 
cross-section up to 600 x 600 mm.

– The concreting platform is light 
enough in weight to be easily assem-
bled by hand.

– The connections of the PERI concret-
ing platform also serve as the crane 
hooks.

Concreting Platform, complete,
Item-no.: 037400.
Permiss. loading 150 kg/m2.

11.70 m high RAPID 
column. The high per-
missible fresh concrete 
pressure makes fast 
concreting possible.



9

Ladder access for PERI RAPID 
Column Formwork

Ladder Cage 150, Item-no.: 051450
Ladder Cage 75, Item-no.: 104132

Ladder 180/6, Item.-no.: 051410
Access Ladder 180/2, Item-no.: 103724

Ladder Connector RAPID, Item-no.: 103369

Ladder Hook, Item-no.: 103718
Ladder Base, Item-no.:051460

PERI RAPID Column Formwork 
complete with ladder access and 
Concreting Platform.



10

 Item no. Weight kg

RAPID Column Formwork

037270  16,800 Column Frame RAPID 60, Alu
Column frames for continuously adjustable cross-
sections up to 60 x 60. 21 mm plywood thickness. 
With clamping profile for fixing the plywood with-
out screws or nails.

Complete with
1 pc. 037160 Bolt Ø 20 x 205, galv.
1 pc. 037150 Tie Yoke DW 15
1 pc. 030440 Spherical Nut DW 15, galv.
2 pc. 780357 Bolt ISO 4017 M20 x 50-8.8, galv.
2 pc. 710334 Nut ISO 4032 M20-8, galv.

30
0

30
0 60

0

794

037260  45,200 Column Frame RAPID 210, Alu
Column frames for continuously adjustable cross-
sections up to 60 x 60. 21 mm plywood thickness. 
With clamping profile for fixing the plywood with-
out screws or nails.

Complete with
3 pc. 037160 Bolt Ø 20 x 205, galv.
3 pc. 037150 Tie Yoke DW 15
3 pc. 030440 Spherical Nut DW 15, galv.
2 pc. 780357 Bolt ISO 4017 M20 x 50-8.8, galv.
2 pc. 710334 Nut ISO 4032 M20-8, galv.

25
0

80
0

80
0

25
0

21
00

794

037250  61,800 Column Frame RAPID 300, Alu
Column frames for continuously adjustable cross-
sections up to 60 x 60. 21 mm plywood thickness. 
With clamping profile for fixing the plywood with-
out screws or nails.

Complete with
4 pc. 037160 Bolt Ø 20 x 205, galv.
4 pc. 037150 Tie Yoke DW 15
4 pc. 030440 Spherical Nut DW 15, galv.
2 pc. 780357 Bolt ISO 4017 M20 x 50-8.8, galv.
2 pc. 710334 Nut ISO 4032 M20-8, galv.

25
0 800

500 64

23
8

60 654 80

30
00

794

Ø21

M 20x50

10
00

50
0

10
00

25
0

12
0



11

 Item no. Weight kg

RAPID Column Formwork

037210   0,320 Chamfer Strip RAPID l = 3,0 m
For installing the plywood formlining on the RAPID 
column frame.

3000

34 25

030440   0,686 Spherical Nut DW 15, galv.
For corner tying of RAPID with DW 15.

Note
Wrench size SW 27.
Technical Data
Permissible load 90 kN.

SW27

11
0

68

037160   0,736 Bolt Ø 20 x 205, galv.
For corner tying of the RAPID Column Frames.

Complete with
1 pc. 018060 Cotter Pin 4/1, galv.

20
5125

Ø20

037150   0,641 Tie Yoke DW 15
For corner tying of the RAPID Column Frames.

Technical Data
Permissible load 90 kN.

315

42
28

Ø21DW 15

105400 
104477 
781053 
018060

  0,330
  0,300
  0,065
  0,030

Accessories
Bolt Ø 20 x 140, galv.
Bolt ISO 4014 M20 x 120-8.8, galv.
Nut ISO 7042 M20-8, galv.
Cotter Pin 4/1, galv.



12

 Item no. Weight kg

RAPID Column Formwork

037400 123,000 Concreting Platform, compl.
Working and concreting platform for TRIO, RAPID 
and QUATTRO Column Formwork.

Complete with
1 pc. 037410 Concreting Landing, Alu
2 pc. 037420 Platform Guardrail 52, galv.
2 pc. 037430 Platform Guardrail 134, galv.
3 pc. 037440 Crane Hook Concreting Platform

15
21

1521

037320  16,200 Crane Lifting Unit-2 RAPID
For moving RAPID coulmn formwork.

Safety Instructions
Load-bearing point: capacity 0.5 t.

798

Ø18

Ø22

500

250

037190   3,010 Brace Connector-3 RAPID, galv.
For connecting push-pull props and kicker braces 
to the RAPID column frame.

Complete with
1 pc. 037160 Bolt Ø 20 x 205, galv.
1 pc. 027170 Bolt Ø 16 x 42, galv.
2 pc. 018060 Cotter Pin 4/1, galv.

16
5

315

DW 15

Ø16x42
20



13

 Item no. Weight kg

RAPID Column Formwork

037430  17,100 Platform Guardrail 134, galv.
As guardrail for PERI Concreting Platforms. Locks 
in place automatically.

1340 50

15
0

10
05

13
05

037420  10,200 Platform Guardrail 52, galv.
As guardrail for PERI Concreting Platforms. Locks 
in place automatically.

10
05

13
05

525

15
0

50

037410  51,400 Concreting Landing, Alu
Continuously adjusts to all column cross-sections 
up to max. 60 x 60 cm. Attachment is carried out 
using the crane eye of the concreting platform.

Technical Data
Permissible load 150 kg/m2.

1420

1524

710

84
0

62
0

15
24Ø21

Ø14

130



14

 Item no. Weight kg

RAPID Column Formwork

103724  10,400 End Ladder 180/2, galv.
As access for PERI formwork systems.

Complete with
4 pc. 710224 Bolt ISO 4017 M12 x 40-8.8, galv.
4 pc. 710381 Nut ISO 7042 M12-8, galv.

298 1200

1885

45
0

051410  11,700 Ladder 180/6, galv.
As access for PERI formwork systems.

Complete with
4 pc. 710224 Bolt ISO 4017 M12 x 40-8.8, galv.
4 pc. 710381 Nut ISO 7042 M12-8, galv.

14905 x 298 = 83

1960

45
0

037440   5,660 Crane Hook Concreting Platform
For assembling the concreting landing on the 
RAPID and QUATTRO column frames.

Safety Instructions
Load-bearing point: capacity 1.0 t.

25
0

50
8

137

DW 15

70

120

115352  15,100 Platform Front Guardrail 86/86
As guardrail for PERI concreting platforms towards 
the column. Mounted with Screw-on Coupler.

Note
Wrench size SW 19.

82
4

11
5099

4



15

 Item no. Weight kg

RAPID Column Formwork

104132
051450

 15,600
 25,200

Ladder Safety Cages, galv. 
Ladder Safety Cage 75, galv.
Ladder Safety Cage 150, galv.
Ladder safety cage for PERI access ladders.

Complete with
4 pc. 710266 Bolt ISO 4017 M12 x 25-8.8, galv.
4 pc. 701763 Clamping Plate Fl 25 x 10 x 90

75
0

/1
50

0

710

70
4

103369   6,400 Ladder Connector RAPID, galv.
For connecting ladders to RAPID column frames.

Complete with
2 pc. 710266 Bolt ISO 4017 M12 x 25-8.8, galv.
2 pc. 701763 Clamping Plate Fl 25 x 10 x 90

23
0

50

19
5

26
0

17
8

30

453

661

103718   0,684 Ladder Hook, galv.
For adjusting the bottom ladder. 
Always use in pairs.

Complete with
2 pc. 710266 Bolt ISO 4017 M12 x 25-8.8, galv.
2 pc. 710381 Nut ISO 7042 M12-8, galv.

33
0 SW 18

051460   2,180 Ladder Base, galv.
As bottom ladder connection and for securing 
ladders against sliding on the scaffold decks.

405

21
0

50



16

 Item no. Weight kg

RAPID Column Formwork

028110   5,180 Kicker AV
Extension length L = 1.08 - 1.40 m. 
For aligning PERI formwork systems.

Complete with
1 pc. 027170 Bolt Ø 16 x 42, galv.
1 pc. 018060 Cotter Pin 4/1, galv.
Note
Permissible load: see PERI Design Tables.

min 1080     max 1400

980

Ø16x42 Ø16,5

1010

Ø30

38
Ø

028030  38,400 Push-Pull Prop RSS III
Extension length L = 4.60 - 6.00 m. 
For aligning PERI formwork systems.

Note
Permissible load: see PERI Design Tables.

min 4600     max 6000

4399
16,5 16,5

Ø48,3

915

82
,5

Ø

028020  22,100 Push-Pull Prop RSS II
Extension length L = 2.91 - 3.80 m. 
For aligning PERI formwork systems.

Note
Permissible load: see PERI Design Tables.

min 2910     max 3800

Ø16,5Ø16,5
2775

Ø32

10

70
Ø

15

028010  18,000 Push-Pull Prop RSS I
Extension length L = 2.05 - 2.94 m. 
For aligning PERI formwork systems.

Note
Permissible load: see PERI Design Tables.

2050min      max 2940

1915

Ø16,5

10

Ø32

70
Ø



17

 Item no. Weight kg

RAPID Column Formwork

106000   1,820 Base Plate-2 for RSS, galv.
For assembly of RSS push-pull props.

Complete with
1 pc. 027170 Bolt Ø 16 x 42, galv.
1 pc. 018060 Cotter Pin 4/1, galv.

150

Ø21

Ø11

100 12
85

028120  16,900 Kicker AV RSS III
Extension length L = 2.03 - 2.92 m. 
For aligning PERI formwork systems.

Complete with
1 pc. 027170 Bolt Ø 16 x 42, galv.
1 pc. 018060 Cotter Pin 4/1, galv.
Note
Permissible load: see PERI Design Tables.

min 2030     max 2920

1915
Ø16x42 Ø16,5

Ø32

10 10

70
Ø

108135  12,900 Kicker AV 210
Extension length L = 1.28 - 2.10 m. 
For aligning PERI formwork systems.

Complete with
1 pc. 027170 Bolt Ø 16 x 42, galv.
1 pc. 018060 Cotter Pin 4/1, galv.
Note
Permissible load: see PERI Design Tables.

min 1280     max 2100

1171

Ø16x42 Ø16,5

1010

Ø36

70
Ø



The optimal System for every 
Project and every Requirements

PERI GmbH
Formwork Scaffolding Engineering
P.O. Box 1264
89259 Weissenhorn
Germany
Tel. +49 (0)7309.950-0
Fax +49 (0)7309.951-0
info@peri.com
www.peri.com

System-Independent Accessories

Wall Formwork Column Formwork

Slab Formwork Climbing Systems Tunnel Formwork Bridge Formwork

Shoring Systems Facade ScaffoldConstruction Scaffold Industrial Scaffold

Access Protection Scaffold Services

D
E 

en
  1

1 
| 2

01
1 

 5
m

a 
 7

90
44

2 
 ©

 P
E

R
I G

m
bH



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (Coated FOGRA27 \050ISO 12647-2:2004\051)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.3
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize false
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo false
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo false
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 150
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.40
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 150
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.40
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 600
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects true
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check true
  /PDFXCompliantPDFOnly true
  /PDFXNoTrimBoxError false
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (U.S. Web Coated \050SWOP\051 v2)
  /PDFXOutputConditionIdentifier (CGATS TR 001)
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /CHS <>
    /CHT <>
    /DAN <>
    /DEU <>
    /ENU (Use these settings to create Adobe PDF documents that are to be checked or must conform to PDF/X-3:2002, an ISO standard for graphic content exchange.  For more information on creating PDF/X-3 compliant PDF documents, please refer to the Acrobat User Guide.  Created PDF documents can be opened with Acrobat and Adobe Reader 4.0 and later.)
    /ESP <>
    /FRA <>
    /ITA (Utilizzare queste impostazioni per creare documenti Adobe PDF che devono essere conformi o verificati in base a PDF/X-3:2002, uno standard ISO per lo scambio di contenuto grafico. Per ulteriori informazioni sulla creazione di documenti PDF compatibili con PDF/X-3, consultare la Guida dell'utente di Acrobat. I documenti PDF creati possono essere aperti con Acrobat e Adobe Reader 4.0 e versioni successive.)
    /JPN <>
    /KOR <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die moeten worden gecontroleerd of moeten voldoen aan PDF/X-3:2002, een ISO-standaard voor het uitwisselen van grafische gegevens. Raadpleeg de gebruikershandleiding van Acrobat voor meer informatie over het maken van PDF-documenten die compatibel zijn met PDF/X-3. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 4.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        0
        0
        0
        0
      ]
      /ConvertColors /NoConversion
      /DestinationProfileName (Adobe RGB \(1998\))
      /DestinationProfileSelector /UseName
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /HighResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MarksOffset 6
      /MarksWeight 0.250000
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /UseName
      /PageMarksFile /RomanDefault
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [1200 1200]
  /PageSize [612.000 792.000]
>> setpagedevice


	Test123: 


